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V Semester B.Com. Examination, October/November 2019

(Scheme : RSS 16 -17) (Freshers of Oct./Nov. 2018 and onwards)
FINANCIAL MANAGEMENT

Time : 3 Hours Max. Marks : 80
Instruction : Answer all the parts.
QR RNNSNR CVIOA.

PART - A
N — D

Answer any two questions. Each question carries 20 marks. [2%20=40]

OIRYTOT3H® 2 TINRONR wwZdA. T TIR 20 O3NS,

QI) “The Wealth maximization objective of the firm is superior to profit
maximization objective” Discuss.

“2.0T h’O:v;ojo NOTY FOTWB) MORT VB eIF) T NYRH T B0
BeTOTHT” WFR.
02) Adarsh Ltd, is intended to install a new machine at a cost of ¥50,00,000 with

alife of 5 years. The estimated Net cash inflows (NCF) from the investment
are as follows.

Year NCF(X)
1 14,00,000
2 13,00,000
3 15,00,000
4 18,00,000
5 12,00,000

P.T.O.
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Evaluate the investment proposal according to :
a) Pay Back period

b) Net present value method (NPV) -at 12%
c) Profitability index -at 12%

d) Accounting rate of return.

BSTIE DONNITID 5 IRE e:soda‘:oN% BRI ojaogwaﬁa& 3. 50,00,000
dagpeg WYTBID VT AATLZTVT. T TeBFOD DT [N WEBOY) 33
3YTOBOI OO REONG.

BRE QTY I 2.9TOP)
(NCF) (8%.) ’
14,00,000
13,00,000
15,00,000
18,00,000
12,00,000
83 BRRECH BREITODT, TN JTOING JFoT IPOBPTS =P
R)  &ITP RS RO
D) THI FY IPY, (2F & D) Je. 12
) ©ERO3 ARWBOT Be. 12
@) &3W0 HWTP (2.80°.8T°.)

(O, B S US B O

03) Nirantra Manufacturing company has the following capital structure

4
Equity share capital 50,00,000
Preference share capital 20,00,000
Debentures 30,00,000
8% term loan 15,00,000

1,15,00,000
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Anticipate external financing opportunities

a)
b)
c)

d)

15 years, 12% deberetuns of I1,000/- face value, redeemable at 6%
premium, sold at par and flotation cost ¥10/- each.

16% preference shares of ¥100/-, sale price I96/- per share, redeemable
after 10 years @ I105/- each.

Equity shares having face value of ¥20/-, the sale price bemg 326/- each
and cost of flotation Rs. 1 each.

Term loan is available at 8%.

The corporate tax rate is 30% and the expected growth rate in equity
dividend is 6%. The expected dividend at the end of the current financial
year is X 2/- per share.

From the above information, determine the weighted average cost of
capital of the company.

‘VT0ST” YTOITWTD TOTAOD OTRE DTAD) 83 3$IOBOST.

&)

cw.
RO, 3D WOBRTY 50,00,000
QﬁCSeS:% 33 WOTBWOY 20,00,000
TROTZND 30,00,000
3¢. 80 DeToFRnD To® 15,00,000
1,15,00,000

%egé maé BEOTORY BHWTOIND FYNT0S.

15 IRENY, 3e. 128, TBR. 1000/- @030 LODTOINZT ?Jo@wgmﬁz&&

BDBSH BRTORZT, 3¢. 68 BWHWOONY BTTBSATOTVT)T,
BE DOTIE Sw. 10 DITE B HerdIT.

Je. 16 ST@O FeNY SDBS0I dwe. 100 SN, TS  3e0R S,
96 TO3 [WRTW WRBSIMRTR. 10 [JENY To3T e 30 Twe.
105/-808 R0VTORSHSOMITHTR.

SDENVEL BNy [oNBS Swe. 20 BN, Twe. 26 TOZ [PV
VBT, VBT H$BF) B8 Jeort cw. | SNTIT.

3e. 8003 QegFr Ry MO BRTCINIEH 30TIOH Iort B3P 3e. 30
0B, [WRWT, Jeddnd JoegI Cog503  BYIeBod ToF) e, 6
O{BE BT ToToRd IRFT 3eI0DY B 30 Sw. 2 T3
SRIADIC VIV aaegxmm@m

DNCOT A[ONPOT FOTWAON 3T JTORO WOBIOP sﬂagjwmol QP OA.

-3-
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04) Following are the details of three companies.

R 15% 10% 8%
K 10% 10% 10%
ER®) 200/- 200/- 200/-

Calculate the effect of dividend payout on the price of Equity shares of each
of the above companies in the following different situations under Gordon’s
view on optimum dividend. Policy if D/P ratio (1-b) are

a)  40% b) 60% c) 70% d) 90%
3 3UB0R QWONW HRW FOTINTR HOWOPATNDLIE.
XLTD. YLID. ZLID.

(&T°) (1) Be.15 3e.10 3e.8
% (k) 3e.10 3e.10 3e.10
2 (B) ®) 200 200 200

ﬁaec%ocg BHOJNYOT SOLVOT ToS0IN Jed 23303 e VoD WO
VOFORB/I, TREBFD™ TRV BYODY Tone ©B[T BTIF Cog03
maﬁéo&abel 33 FPTOW ROWLPF NON0TOTwoN FOWEBBOWD.

U003 TRE TIo3 (1-b)

Q) 3e. 40
Q) 3e. 60
) 3e. 70

&) 3e. 90.
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PART - B

>N — D

Answer any two questions. Each question carries10 marks. [2x10=20]

O3RYTIOTIR RV TJNOR DR, 3o 10 LOTNLD.

Q5) What is cost of capital? Discuss the role of cost of capital in financial decisions.

WOBTOY ﬁzi DOTTERT? TEOTORD ETEINEGY 20TV da;dcs mgw:o&
WO

06) The capital structure of a company consists of equity share capital of
< 20,00,000/- of ¥100/- each and I20,00,000. 9% debentures. At present the
company is manufacturing and selling ¥2,00,000 units at 15 per unit. The
variable cost being ¥ 7 per unit and the total fixed cost being I7,80,000/-
(excluding interest on debentures) and the tax rate is 30% . You are required
to calculate.

a) Financial leverage
b) Operating leverage
c) Combined leverage
d) ROE

2,00 FOTIOD WOBOY DTYRFY) Tw. 20,00,000 ARTIT, 3T WOBWY
IS Jeort de. 100/-303 3 Te. 20,00,000/~ B¢ 98 WOTIAED,
BROOTHIH. FOBIKD THITY TS ooy Te. 15 T3 2,00,000
ORRIEF TR, B[00 [REWETY, AW WBOT IPF) TS 0L Bw.7
DB 2t 2396 3P Sw. 7.80,000 (OTIRY VB TPTDIBR) Tore
3oRTT e, 30. ey DT AWTNPOT

Q) BT DITeE

Q) SDIY O=[BeeE

R) et Osdess

B) ©T. A YW, TOWLBOWD.
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‘D’ TOTAOH WG I 3oR BT, ﬁ@?éodaa Sw. 48,00,000 RPN Hon®
QW3 WO obm T3 980T BINT, BRODIIT.

oR.
i) mmss Bedd worwmed (X 10 T 3edn) 40,00,000
ii) Se. 128 636533 3eT WOBTOY 60,00,000
iif) 3e. 158 Doom3nRw | 1,00,00,000

BOTAOD [JITOWF) DT FeW ATORET,
D) WG W) 301 [T, NPT Je. 25T, o—é’asadd

R) WG DB 301 [T, Nego Je. 258D 5@&3 O3RW3 e NP3
(faw@ ) ) S0eRTdR wd@aassaofoe?m 0B 301 B¢. 40 I BRI,

PART - C
N — 2

Answer any four questions. Each question carries 5 marks. [4%5=20]
CIRRYTRWIL T, TJNVR GVZOA. SO 5 LOTNY.

09) A firm has an expected annual income of ¥1,00,000 and it has ¥5,00,000 of
6% Debt. The overall capitalisation rate is 12%. Find the value of the firm,
value of shares and return of equity (K ) under NOI approach.

2,00 FOFOD O WokF T JeIF Fo0DFWOOD Twe. 1,00,000 30 A
Sw. 5,00,000 3e. 63 MOTIRT, BRODITT. 2.3 WOTY BT 3e.
120430 27 2 0 2008 Fgod FOFOoH [P B3S Jeos [P LS
TR ATT, 30T STDOD BTWR, FOBEBOWD.

Q10)The earning per share of Vishwas LTD is ¥20/- Its rate of return (r) and cost
of capital (k) are 12% and 10% respectively. The dividend payout ratio is
25%. Compute the price of equity share under Walter model.

DTYF AONNITT 0T 30T NPFOD Tw. 20 BNTIW. ©TT ST
TT(BT') DB OB 5?3 (3) 30N Bel2 DB Be. 10 SNDHIT.
@ptApler "—owéoda @mws@ 3e.25 DXTETT3. m@@edwd Nmo:%cs w@d
TOTIT, BeOT LSONT, TOBIERROWO.




21752

QI11)Write a note on Trading on equity.
BeRon” B Qs Wi 8T 0T,

Q12)What is stable dividend Policy?
AT D703 Q8 DOTTEI?

Q13)Write note on NPV.

TR ATF IPOT (QT°RN) w7} 3Ted T,

QI14)What is capital Budgeting?
WOTRRY SONJOD  DOTTE?

& B ¥
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V Semester B.Com. Exammatlon, October/November 2019
(Scheme : RS (16 -17))
(Freshers of Oct./Nov. 2018 & Onwards)
COST & MANAGEMENT ACCOUNTING -1V

Time : 3 Hours Max. Marks : 80
Instruction : Answer all the parts.
DER GTNNLMS VIOR.

PART - A
&N — D

Answer any two questions. Each question ca;?ries 20 marks. [2%20=40]
C3PRYTOTTR TR JJAER w0BOR. T TIR 20 BOIND.

QI) The following particulars relates to the company Sun Ltd. for the year 2017

and 2018.
Year Sales (%) Prc;ﬁt/Loss 6]
2017 6,00,000 — 1,00,000 [Loss]
2018 10,00,000 +1,00,000 [Profit]

Assuming that the cost structure and selling price remains the same. Find out
a) P/V Ratio

b) Fixed Expenses

c) BEP

d) Profit when sales is ¥ 15,00,000

e) Sales required to earn a profit of I 5,00,000

f)  Variable cost for both years.

PT.0.
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8 EYNT OTTADL AT FoTD JoDeNIT 2017 =3y 2018 [HEASR
XOWORA.

DR
2017
2018

R0 (Bw.)

6,00,000

10,00,000

o5/ (S.)

~1,00,000 (3)

+1,00,000 (c5223)

da;s SBS D) [0 B 20T WD QAT DO FRDATROF 88

BINIYNID 0B SBOWD.

Q) Oy TIOT0E TESIVED

) X0 Sgned

2

) ‘N’db%@ DO

&) Tw. 15,00,000 SSoToLzoman WV 0

Q) TwR. 5,00,000 BRI F[I0BL3ETT 0TS

QP )RCBD JIRFT 3T Do

Month

Aug.
Sept.
Oct.

Now.
Dec.

Sales
3
4,00,000
5,20,000
4,60,000
5,80,000

6,00,000

Purchases Wages
R 3
2,40,000 76,000
2,00,000 80,000
2,20,000 84,000
3,60,000 96,000
3,40,000 90,000

Q2) From the following information relating to Nishitha Ltd, prepare a cash Budget
for 3 months ending Dec 2018.

Overheads
4
38,000
42,000
46,000
48,000
50,000
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Additional Information:

1) Cash on hand on 1-10-2018 80,000

2) 50% of the sales is for cash, and the balance 50% on credit, realised
following two months of sale.

3) Creditors are paid in the month following the month of supply.
4) Lag in payment of wages %2 month and Overheads ¥4 month
5) Advance Income Tax due in the month Dec. 2018 I75,000

6) A dividend of ¥1,50,000 on equity capital is to be paid in the month of
Nov. 2018

7) Interest on investment receivable in the month of October. 2018 ¥1,00,000.

dT0 OWEIT FOWORAT 8 IPNT T0&S0W0T  BFowWT® 2018 %
%Jaimeégpoa’ DR 30NY INT [BVONE TFBRY, S0ITPOA.

SOTED ASpIepIN D0ed 309 e ried
SR, 4,00,000 2,40,000 76,000 38,000
z?a"&o*z,ac‘T 5,20,000 2,00,000 80,000 42,000
w80 4,60,000 2,20,000 84,000 46,000

JR[owoT  5,80,000 3,60,000 96,000 48,000

&Bowo®  6,00,000 3,40,000 90,000 50,000




21753 M-8033

éz&‘%ﬁ@ BI&é:

D

2)

3)

4)

S)
6)

)

- 1-10-2018 TOW VYTLIWRT INT S5, Sw. 80,000

3e. 50T, WIOTOE INTR  WIDTVEITFONT, SV Be. 500,
QTO BIVTLITNDBH LVFO [HTILT T WIDTOEIOT J03TT
2 oNYY [RRRMHT.

JTTZY, ATLWTOWD DRBT BNOOT  doNT¥Y FTWToRITOTON
TOWERTOMOZT.

3RO da;jdﬁa& 1/2 gongh ) e ﬁz;dwaia& 1/4 8onsd I@eon
mwé%da@gd.

BR0WT° 2018%’% 370003 301 =0OoNB Tw. 75,000 Tw. mwamsmmgd

SBows® 201809 @, Hed woBTFE Sw. 1,50,000 <R3
BRTLEB.

@&@J@&)cs 2018 B0 1,00,000 Sw. BABBINLOT Ale) DBODNLEeFTONT.

03) From the following information prepare the Sales Budget of a Company for

the year 2019.
South Zone
Product Rate per unit ~ Budgeted Sales for Actual Sales for
3 2018 units 2018 units
A 60 2,500 3,000
B 80 1,600 2,000
& 120 2,000 2,400
North Zone
4 units units
A 60 3,000 2,500
B 80 4,200 3,800
C 120 2,600 1,700
East Zone
3 units units
A 60 4,000 3,600
B 80 3,200 3,500
C 120 2,400 2,500

-4-
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Suggestions emerging as a result of consultation among the different zonal
sales managers were as follows:

a)

b)

The demand is more in South Zone for all the products. The market can
aborb 25% more than the actuals in 2018, even when the price is increased
by %20 per unit for every product during 2019.

In North Zone, there is competition from other Company. However a
10% increase can be achieved at the same rate in 2019 as compared with
the actuals in 2018.

In East-Zone,a 25% increase on the budgeted sales of 2018 can be
achieved with the help of Advertisement at an increased rate of 10 per
unit for all the Products.

From the above show the precious years target and achievements in the
Budgeted Statement for the year 201 2.

3 3N %@%&d ARTRL0TE 20193¢ mOR 2,000 FOTAOH B[ROV
ROONT asgassa& 303004

B[R
-0

Q w >

(@ve AN

w >

C

TBED BOOD
©T uodii 20188 R0ONTTT, 20183 =93
oe. S0k ORRIFNYY  IPTH ORRIBNTY
60 2,500 3,000
80 1,600 2,000
120 , 2,000 2,400
BT WOOR
. - ODRIEF O
60 3,000 2,500
80 4,200 3,800
120 2,600 1,700
TRTIE RIOOD
oR. O ODRA
60 4,000 3,600
80 3,200 3,500
120 2,400 2,500
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QG BOODNY DIOH a’éw?«%&"ﬁd SRS IBT WRPEReBEING TOPoTON
BRTWOT BRBIND 38 F$NT08I. :

Q) TR TONTY 2R TR ©F e@s 9. 2019 09 TE3ROTD
WA TR, 20 BS BPATTR XE Be3oH 00T (2018) BITES
WOAW TFINOT 33T 25 eE) ézzs;ﬁ é’ﬁdaim%waacﬁo.

D) YT JOOHTE ¥IT BoTAINLYOT BFBeew 9Bk, ©T3N, 2018 T
TOTY F0FS FIN0S Be33 1035, BFTZ, 2019 T ORI

R)  TRTF TOODTY, 0&00ER FHVODOOT, DTY BRNT T8 CDRAEFR
Op. 10003 AT BOTY 20183 TOONE TIE SPoNT  recs
3e3a. 250D o%ageé SRIAEIAL M A

LO0S JIXET O I RBINTH, I8 20193 IR BoRR
TIRY 3cdA.

Q4) Define Management Reporting. What are its objectives? Explain the Principles
of a good Management Reporting System.

NI B ad&)oﬁaaﬁgl SIUARVA. AWT YT BT, 20T a%odo QT BEBY

STOODY 9TBeTT IIRYD, DO
PART - B
on —

Answer any two questions. Each question carries 10 marks [2%10=20]

O3RFTOTBR DT IIRen OZ0R. T ITFR 10 ©osne.

) o

Q5) Whatis Standard Costing? Distinguish between standard costing and budgetary
control.

&3 23 dror o D0TJern? OF X% VeoFOD Tone TJONE T3 Sevlelcfx
SIS BIvA S9A.
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06) A manufacturing company is currently working at 40% capacity and produces
20,000 units. The cost structure and sales are as follows.

4
Material 300 p/u
Labour 90 p/u
Factory Overheads 90 p/u (40% Fixed)
Administrative Overheads 60 p/u (50% Variable)
Sales Price : 700 p/u

Estimate the profit at 60% and 80% Capacity by preparing a flexible budget

20T YOZTI® FOZCH T3P JesR 400 MRGFTY 20,000 ORRVDNTR,
ICIPOIT. VTS DF WY, Wosk BS B8 $$FOBOI.

g,
ToTRN, | 300 TS OIREFR
309 90 B3 CIOVFR
TaRES DD 90 T3 C20REFT (Be. 40 AT)
SRBOZ Db 60 TS 00T (B¢, 50 28T)
RooEs 3¢ 700 BE 030EFT

3653 60 I 3683 80 T TRNFFTOT COHFT), WBOHT FOONT
TIT DROT BOTOKRD BRA.

Q7) The standard cost card for one unit of a product shows the following cost
for material and labour.

Material - 4 kgs @ < 11 per kg
Labour - 10 hrs @ < 3 per hour.

5,800 units of the product were manufactured during the month of march
2019 with the following material and Labour cost.

Material - 23,500 kgs @ < 10 per kg
Labour - 58,300 hours @ X 3.50 per hour -

Calculate Material and Labour Variances.

-7
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20T VAT, SIPOTLD e 62,3% [, WDB) BRIOD CES 52;3&5
2303030 B3 3PN BRTBTOONS.

o5, AN — 4 B.R.AWH TE 2.0 B3R Sw. 11
3R - 10 Rowdnsh =& nowdnt dw. 3

@503 2019 TY 2.t 5,800 omzswmﬁmcz WIVORILY 8 YR LAV
B3y, AN, W) BRI, #OFFTN WHRUONT.

TSy, AON, — 23,500 3.223.1¢d 2o 3.23.7 Tw. 10
39 — 58,300 notdnsd TE noedt dw. 3.50
Be5p, TN, W) 3D FIPS FTANIRY, S0BERROWD.

08) A Company producing 20,000 units of a product working at 80% Capacity,
receives an order from a foreign dealer for 5,000 units at ¥ 650 per unit
-although the local sales price is ¥ 850 per unit.

The present cost structure is given below:

3
Material ‘ 250 per unit
Labour 100 per unit
Overhead fixed 200 per unit
Variable 200 per unit
Total cost E) per unit

a)  Advise the Management whether to accept the foreign order or not.

b)  What will be your advise if the same order had come from a local market.
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10T RoAoDH TR Be. 808 MEFFTY OB A BAITY, B, 20,000
ChRDEFTE, IO FPeod BRTWEDY, &Ow SN

dn. 850 o3 mmwmmgd% DTS mémam%bod 2R, 650 To3
5,000 ohRIEFNR 30363 wo@da_:gd.

3.
TRIN, 250 Z8 ohRIEFR
| 309 100 3@ 0RRIFR
Boee0sB-40 2008 OPRIEFR
238 200 B3 0PRIEFT
b 23 R, 7505 chRRITT

D) B dTed SBBTD, WLRZAR PR LBONT Wi SBII Soren
ROBOD, 8R&.

D) QTIE STWEBYR) W), %@eoﬁo mémd%aocs 200TT W, OB DN?

wen = 2
Answer any four questions. Each question cérries 5 marks. [4%5=20]
CIPRTOTTRL Ty, BN GB0R. BE TIN5 ©HOBNL.

Q9) State the different motives of holding cash.

Sricia, LaoW) SRR B, 280.
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Q10)Write a note on Relevant cost.
A0BI Do 07§ 8T8 Bono.
QI11)Explain any 3 types of nianagement reports.
CIRPYTTTR TR ATEBED IO DT, ROZeTaoN QDTOR.

QI2)A company makes a profit of ¥2,00,000. Its fixed cost 34,00,000 and BEP
sales ¥8,00,000. Find its actual sales.

20T FOTICD T, 2,00,000 eog SRAB. ey Réd dag Sw. 4,00,000

Tonp ©og3 seg WOT ST VO T, 8,00,000 &3 Jzssog BIVTOLT
wia%wmq BOTDHEOWND.

Q13)State any five assumptions of marginal costing,
©0283 of)ag a'jcgpéodo 5 méﬁ@aﬁa& 8920,
QI4)A Company is at present working at 90% of its capacity and producing

13,500 units p.a. It oOperates a flexible Budgetary control System The following
figures are obtained from its budget.

90% 100%
Sales 15,00,000 16,00,000
Material & Labour 8,07,000 8,96,667 |
Semi fixed expenses 97,500 1,00,500 i
Fixed expenses 3,00,500 3,00,500
Variable expenses 1,45,000 1,49,500

Determine the differentia] cost of producing 1,500 units by increasing capacity
to 100% and calculate profit on sale of 1,500 units.
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ross goTCI  Be. 908 FFFETY 13,500 CINVEF IR, FOSPORZT.
& BoTAORRL WRTRTHT INONE T RIRZDY FODFABF BRIT. 88
39NT HBTRIR), BNONB TVIOOT BEODONT.

3e. 90 3e. 100
RI0003 15,00,000 16,00,000
3L, RPN, B, TR 8,07,000 8,96,667
&3 ,‘-Zéd dzgﬁ% ' 97,500 1,00,500
ngd f)?%ﬁ% 3,00,500 3,00,500
83 WD 1,45,000 1,49,500

maﬁaqﬁgﬁaﬁa& 3e3i. 100 %& B3N, 1,500 ODRIBFNRE), 30330080 &1
5253'05;363 d%asm& 3008000, Tone 1,500 0PNET R0 3TN
ST - LB, F0RVLROWD.

8 8 8

-11-
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V Semester B.Com. Exammatlon, October/November 2019

(Scheme : RS 2016-17) (Freshers of Oct./Nov. 2018 and onwards)
QUANTITATIVE TECHNIQUES -1

Time : 3 Hours Max. Marks : 80

Instructions: 1) Answer all parts.
R RNNENR w_a:a,%.

2) Use log tables wherever necessary.

@aﬁ%&)zgd ifac%af PALSES

PART - A
R - &

Answer any 4 questions. Each question carries 10 marks. [4x10=40]
oHITOTAR 4 TIRER GZon. TS TFrie 10 wosns.

| A
9" 4 \3x3"

=27 "
3x 3" NOTN 3eDA.

Q1) Show that

02) Abill forX 30,000 drawn on 20" May 2018 for 4 months was discounted on
12t July 2018 at 12% p.a. Find (i) Banker’s discount. (ii) True discount. (iii)
Banker’s Gain and (iv) How much the holder of the bill receives?

3. 30,000 Be3T 2,000 BOROIF, 20 Je e 2018 god 4 done
O[ON 3 123¢ asac%d 2018 SO Be. 12 ToAFITOZ ZRBOND (1)
O80T Aweed, (il ) SJwAned (i) 23,030 ooy (iv) BOBODI,
BRODTTIVZ ALTORI BRT - FOW HBONO.

PT.O.
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03) Solve using Cramer’s Rule.
RO OPITZ, YVTARENA WBRO.

4x+2z—T=—y
Ix—y+z=T1
4y+z+8=-3x

04) The sum of three numbers in a G.P. is 35 and their product is 1000. Find such
numbers.
rdees Seedod Bt FoLBNRY BRm Beg 35 BH) PN Hrevy, 1000, &
DR ROBNFDY, FOWELROWD.

05) Using log table, find the value of
OO NeeBNY TESOTY, eVTO3ReNA 233 FOW HEBCWD.

(3.126)" x+/0.256 x+/763.6
340.12x~/552.1x(3.2)°

06) A company sold 3000 motor cars during its first year. The total sales in 20
years was X 1,45,500 motor cars. If the annual sales increases uniformly, find
the estimated sales in the 25" year and total sales in 25 years.

2,00 FOTIOR VAT BREAY 3000 BoeezaTd TR, WPTE RBORID.
20 ITVENY B[HOD 2, WPTES 3. 1,45,500 SB0ct30030 TN, 0N T
RPTOEIR) DICRTICDNY éa;d%fmm%%d, 25303 TRETE 0TV B[IPTVES
Tone 25 [BIENG 2 BIDTEIB, FOWD &H&BOWO.

PART - B
>N — D
Answer any 4 questions. Each question carries 5 marks. [4x5=20]
0370 mTR 4 @%ﬁ@ﬁ WZOR. TG TJR 5 e90BNE0.
07) If a = 105 b=I0, (@xb?) = 100 =TT
prove that xyz =1 S0 SReDA.

-3 -6 1
08) Find the value of x if, 5 x =2=7
2 =3 5

X 3S0%a, S0mERRD.
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logg 2 3

09) Show that logg; 16 xlogg 256 :E QROTD 30ReDA.

Q10)Mr. Arun deposited X 50,000 in a Bank for a period of 4 years. The banker
allowed interest @ 8% p.a. You are required to calculate total interest, if interest
is compounded
(i) Annually (i1) Quarterly. _

OTRTRID 4 FRFT @R 50,000 Tw. nYQY, 9,083 Bessed0dmNesm 3,
2RO Je. 8 TOZ WF eRB. LPOD, 288, WRODHOZ JeRTWT ST 2563
T, WRODT, FOW &BOND.

(i) oegmon (i) 8 Pageon

Q11)Find the sum of all natural numbers between 500 and 1000 which are divisable
by 13.

500 ©0z3 1000 TETR 13 OOT ZNMONE DY WOINY BRT, FOWEHROWO.

012)15 pumps can lift 2880 galons of water in 16 days, working 6 hours per day.
In how many days 25 pumps can lift 4000 galons of water working 10 hours a
day?

15 Toshned TJEOT 6 NoLIoN0Z FONFANF LR 16 AINEY 2880 MO
QeT, ¢S DTS, TIMWTT 25 BOTDRL FSOS 10 ROLI0DOY FODE ATE &od
4000 MET JeTH, T, OINTY FeSTTY?

PART- C

N — 2

Answer any 10 sub questions. Each sub question carries 2 marks.[10x2=20]

O3RRYTRTTR 10 WTZ[JNOR wv3dR. B NTZ[J R 2 LOBNLD.
Q13)a) What do you mean by discounted value of the bill?
RRCRIOIT TOBOD :@@é NOTBEeN9

b) Ifa’=3 b= 15and &? = 20 333 find abe 23683 30T &&R0WO.
c) Findlog, z75=x,x 3 38 gom> &&Q0MD.

3.
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d)

e)

f)

g)

h)

)

k)

)

What is Scalar matrix? Give an example.

Bens® BRYT 20BSeD? LUTPBETH EoB.

Find the sum of 10 terms of the sequence 5,10,20,------

5,10,20,------ 83 3NN 10 FoBNY ZRW BRITTY, OB EROND.
What percentage is 295 of 14752

295, 14758 XD, 33003:0NT3.

S5x+2 4| (12 4 ;
If 2y-1 3 = 7 3 w38 Find x and 32 y 30 HEBONO.

What is the difference between ratio and proportion?

To0Ed B, AT TRIEOTYT BIOADCT?

Find the Simple interest on ¥ 20,000 at 8% p.a. for 14 weeks.

3e. 8 303 14 wodnen dw. 20,000 T e XTY 2GODT), FOBEBOND.
State the laws of logarithms.

oo QoD TR0,

Give the standard form of A.P. and G.P. for terms of the sequence.

©0T Jeed ) heos eedod TTPRNG W0oNY Y, 0BT, FIRBOLEY,
3080. |

2 3 8 -3
IfA=[4 5}and le:—l 1}@3(‘56 Find (A+B')§OC§D H&ROND.

Find the present worth of X 27,000 due after 6 months at 16% p.a.

3e. 16 Jo38 6 son¥ 03T s 27,000 Se. 1Y TRF BROB,
FOB&RBOWO.

Find the third proportion to 9 and 15.

9 =) 15 § TeI[o ATTRIVETI), FOW &BOND.
Which term of the series 7,10,13 ------ is 1547

7, 10, 13 ------ QWS BWRING FoBOHY 154 2FI0D B0,

2 RXEx
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SLNo. 12833 e DOMECEL
V Semester B.Com. Exammatlon, October/N ovember 2019
(Scheme : RS 2016 - 17)

(Freshers of Oct./Nov.2018 and onwards)
CORPORATE ACCOUNTING-11I

IR vy
A

Total No. of Pages : 15

Time : 3 Hours Max. Marks : 80
Instruction : Answer all the parts.
DR §RNNONR eVI0R.

PART - A
R — &
Answer any Two questions. 20 marks each. [2%20=40]

CIRFYTHTTR OB BIAER w030k, B TBR 20 wosrish.

Q1) The following is the Balance Sheet of Divya Ltd., as on 31-03-2018:-

Particulars Rs.

I Sources of Funds

Share capital (Rs. 100 each) 25,00,000
Reserve fund 3,75,000
Surplus from P & L a/c 2,00,000
Sundry Creditors | 4,00,000

Total 34,75,000

I1 Application of Funds

Premises [Lease hold] 5,00,000
Machinery 11,00,000
Patents 75,000

PT.O.
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Stock

Debtors

Goodwill

Bank balance

Preliminary expenses
Total

M-8035

5,25,000
4,50,000
4,75,000
3,00,000

50,000

34,75,000

Divya Ltd., is purchased by Priya Ltd., which pays Rs. 30,00,000 in fully
paid up shares of Rs.100 each and Rs. 5,00,000 in cash. The Balance Sheet

of Priya Ltd., as on 31-03-2018

Particulars Rs.
[ Sources of funds
Equity Share Capital [Rs. 100 each] 50,00,000
General Reserve 5,00,000
P & L a/c Surplus 2,50,000
7.5% Debentures 8,75,000
Creditors 5,25,000
Total 71,50,000
[1 Application of Funds
Building 15,00,000
Machinery 20,00,000
Stock 12,50,000
Debtors 7,50,000
Cash at Bank 11,00,000
Goodwill 5,50,000
71,50,000
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The expenses of Divya Ltd., was Rs. 25,000

a) Prepare necessary Ledger accounts in the books of Divya Ltd. -

b) Give opening Journal entries and vertical Balance Sheet in the books of
Priya Ltd., after the Amalgamation in the nature of Purchases has been
completed.

(‘Dﬁs QODNTT BA W0eRO Te 31-03-2018 TOTH B FENT08T:

QTONRD ow.

1200 e
Redd woBTY (Swe. 100 § 2.01308)|  25,00,000
ARTP, Y 3,75,000
B[O w033 sgmé 2,00,000
BN 4,00,000
2.t B, 34,75,000

1 20nY 2¢3
3WR (&&mﬁs £35300) 5,00,000
0003LRLTIFTED 11,00,000
AR 75,000
i 5,25,000
2ENED 4,50,000
SISO ‘ 4,75,000
- R0IYS R 3,00,000
BS8000T DIDFNYD | 50,000
2,83 R0 34,75,000

o)

TORSO3PT 3. 1000 éedaﬁ%fmol Tonw TBwR. 5,00,000 smmol QeRB. 3T
DODNBT BA w0 FWe 31-03-2018 303

@56 QODNTTIZ),, 0D VODWIBeY DVEHRA, BWE)N cw. 30,00,000 %&'i@é%‘

.
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217535671@0 ow.

I QONE DRON
mmsé 330 WOBOE(TR.100 TO3) 50,00,000
SRENSEIMENIS 5,00,000
P Tone TF 003 a‘é’zé%asa 2,50,000
7.5% DO TIAR 8,75,000
TN 5,25,000
28 B 71,50,000

1 2onY wes

G le: 15,00,000
0D0BRLTFTD 20,00,000
JO® 12,50,000
20ESNED 7,50,000
EROIYTVT  INTH 11,00,000
Romoad 5,50,000
2,23, WP 71,50,000

0 QOPNBT DWFNRT Twe. 25,000

) 0T DONNIT WXTT S093NYTY, SO3ROA.

©) QO JONWET &TORT BRezd TODSNTIY, TR VOWTRIT ©BA

asmmo@ w%ojsmel 00D &’Cé\%od)@’ 2OTNRBTON A&,

02) The Balance Sheet of Sameer Ltd., as on 31-03-2018 is as :-

Particulars Rs.
[ Sources of funds

10,000 6% preference shares of Rs. 200 20,00,000

12,000 Equity shares of Rs. 200 each 24,00,000

13% Debentures 4,80,000

Trade Creditors 3,20,000

General Reserve 1,00,000

Sinking Fund 1,00,000
Total 54,00,000
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[I Application of funds

Building

Patents

Debtors

Stock

Bank

Profit & Loss a/c

Underwriting commission
Discount on issue of Shares
Discount on issue of Debentures

Total

M-8035

24,00,000
9,80,000
4,80,000
7,20,000

20,000
6,00,000
1,20,000

40,000

40,000

54,00,000

The following scheme of Re-construction was duly passed:-

a) Nayana Ltd., to be formed to take over the business of Sameera Ltd.
b) One share of Rs. 100 fully paid in Nayana Ltd., to be issued for every

three equity shares in Sameer Ltd.

¢) Three shares of Rs. 100 fully paid in Nayana Ltd., to be issued for every

five preference shares in Sameer Ltd.

d) The Creditors of Sameer Ltd., to receive 80% of the amount due to
them in fully paid shares of Rs. 100 each in Nayana Ltd., in full settlement.

Prepare Ledger accounts in the books of Sameer Ltd., and pass Journal

entries in the books of Nayana Ltd.

BENCTT A0NN3T B RILRO mg 31-03-2018 Bo3 &eNT:

BN STAT) 3,
[ RONS Shweons
10,0000 6% ©Bge Beconsd Sw. 200003 20,00,000
12,000 T=03, Sedonsd o, 200 503 24,00,000
13% BROTIR 4,80,000
TFRT FAND 3,20,000
IO, A, 1,00,000
INWHT O 1,00,000
2t 2303 [54,00,000
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I 2ONY 93

33T 24,00,000
AZTD 9,80,000
2031 4,80,000
JTR 7,20,000
aplely 20,000
oY msi s% oypkc] 6,00,000
¢30B0° z%wonf BRI 1,20,000
éedamfmol QACBRFTT 20eDT Beed 40,000
o adgmﬁmol QERRYTT 0T BeeR 40,000

283, 54,00,000

83 SN m&s TNIT® AWIF D oi’uae:/,:*><'\3<>53<'\’>30l LOPTBIONS.

Q) JONI? 2’00335333&5304 [eNeo® aosomaamol @@eswmm%
QeNEFTOONI.

D) RNETT QODINTT TS R FORRT, JeRR ToHT9 A0S
0R. 100 T 2,000 JREF [SIT 3eT, ACRF.

A)  ReNCTT AONWIT T3 0T STTO BeNIR TOPT2 AORWIT =%l
Sw. 1000 TpedF ToT8T 5@71%333& QETBF).

R) RNETT JORNIBT FINED IR 2083e50T BRIT Be. 80 OXs
JODT0 AORNIT Te. 100 BREF TOWSAIHT 3TN Bocos 230
To3 JBOIVF)T.

ReDCT® ACNIT mgsmseg mémf&& FToNR I0DTo 0NNIT a'bgm#«
Beeed cm:a)eﬁﬁeémel 3033004.

03) From the following particulars, prepare the Balance sheet of INCI Bank Ltd
ason 31-03-2018.

Particulars Debit Rs. Credit Rs.
Share Capital 1,00,00,000
Reserve fund 6,50,000
Fixed Deposits 10,00,000
S.B. Deposits 15,00,000
Current deposits 1,55,00,000
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Money at call & short notice 1,00,000

Bills discounted 52,00,000

Investments 82,00,000

Premises 60,00,000

Cash with RBI 8,00,000

Cash with other banks 3,00,000

Unclaimed Dividend 26,000
Rebate on Bills discounted 12,500
Travellers Cheque » , 2,75,000
Loans & advances 47,50,000

Overdrafts and cash credits 27,50,000

Advance tax payable 27,500

Branch adjustments 14,48,500

Silver 70,000

Furniture 65,000

Non-Banking assets 39,000

Borrowings from Banks 62,500
Bank draft payable ' 5,00,000
P & L a/c (01-04-2017) 50,000
Profit for the year

(before appropriation) 1,74,000
Dividend fluctuation fund 50,000
Cash in hand 50,000 |
Total 2.98.00.000 2.98.00,000
Other information:- ~

1) The Bank had Bills for collection Rs. 15,00,000

2)  Acceptances on behalf of customers Rs.20,00,000

3) Liability on Bills re-discounted Rs. 25,00,000

4) Directors proposed dividend on paid-up capital @ 12 %.

33 FPNS AWONYOT, D A A N, asaéoas QO3 SR amz&gp
BegoDdT, 31-03-2018 S03POR.

QWON 0TS, 3D S,

3 WORTWT ~ 1,00,00,000

mm@s A 6,50,000

??pd Bemed 10,00,000
.
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PVPTOON BeIed 15,00,000
39 Fea3ed 1,55,00,000
38 T TONW NEY WBWHOD BRLW 1,00,000

RRCRBOIT BIOBNRLD 52,00,000

JRIJIND 82,00,000

BUET &30 60,00,000

RBIS® 1tha Ind 8,00,000

YB3 R,0IFIHT I 3,00,000

TBONTE YT ©LTOOT 26,000
RREBR BNOAT BORNY ees

T[RONBION 20083 Beed 12,500
TEOANT BRND 2,75,000
O 3B SW0ONBAH 47,50,000

EBLINL Tonw INTD emcg@ﬁ@o 27,50,000

BRBEETT 0ONE 301 27,500

088 BROTOLBIND 14,48,500

239, neg 70,000

QCBRCTITED 65,000

239,08¢33 SANH 39,000

LROFNYOT BJET ToON 62,500
BRTBLICTOT méofmeéeﬁé 5,00,000
oy Tone IF o3 (1-4-17) 50,000
DRET ©0e3 (ébo&raeﬁ%& RRTIEN) 1,74,000
COLOS xmgosa A) 50,000
%ojaegdow SN T 50,000

2083 2,98,00,000 2,98,00,000
QST VBTN

1) m&a"ﬁ@d&ﬁ RBRIMN ODT BoBNE Tw. 15.00,000

2) TRO®ING TTTN LQFIR0RTVT BRBN Swe. 20,00,000

3) W BeedR [BNORT BORNY eOT BREBMOE 3w, 25,00,000

4) AVFe3TD TTI0INT  WOBET  Doeed Je. 12 Ox), ©ogeod
ARBATVT.

-8-
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04) Following is the Balance sheet of Devan Ltd., as on 31-03-2018:-

Particulars Rs.
Capital & Liabilities
Share capital - 14,000 shares of Rs. 100 14,00,000
General Reserve 2,880,000
Profit & Loss a/c 2,24,000
Creditors 8,96,000
Provision for Income tax 4,20,000
Total 32,20,000
Assets
Building 7,70,000
Plant 9,10,000
Patents 1,40,000
Stock 3,36,000
Debtors 6,16,000
Cash at Bank 3,64,000
Preliminary expenses 84,000
Total 32,20,000

The expert valuers valued Buildings at Rs. 16,80,000, Goodwill at Rs. 11,20,000
and plant at Rs. 8,40,000. Out of the total Debtors it is found that debtors of
Rs. 56,000 are doubtful. The profits of the company have been as follows
2015-16 Rs. 5,60,000, 2016-17 Rs. 6,30,000, 2017-18 Rs. 7,42,000. The
Company follows the practice of transfering 25% of profit to general reserve.
Other similar type of companies normally earn 10% profit.

Ascertain the value of company’s share under
a) Net asset method

b) Yield method [ignore taxation]

¢) Fairvalue method

BeRT 0NN SABPTH 3 © 30-03-2018 003 83 IPNTO0ETS

-0

S elatEs 3.

AleleTNpLtIioveicH] BRBMOOF

B30 200BY—-14,000 3edned dw. 100 To3 14,00,000

FRRRT, O 2,80,000

o0g3 WBY IF, 3003 2,24,000
-9-
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BN - 8,96,000
3onn T ORT QeRED 4,20,000

il 32,20,000

SANED

34 7,70,000
?@pﬁd - 9,10,000
B3 | 1,40,000
[T 3,36,000
90BN 6,16,000
$ODYIT B 3,64,000
BTORT DWEND 84,000

2083 32,20,000

2003 @@@mrd&dmﬁo ws’a@ m@m sws 8. 16,80,000 DT
00.11,20 OOO TOTRD "‘awd on. 840 000 &;m 3339'37{@;@ OWR. 56,000 T
eﬂwbmm,vcjmﬂd

BOTACH @ B3 F$NT083

2015-16 Bw. 5,60,000, 2016-17 T, 6,30,000, 2017-18 Tw. 7,42,00(
RLVOIT 3e. 25 dwm wms NEXON JMOFONTT wawdwm O3
w@wézﬁ

QBT YOPFRE BOBIND AORPIEON Be. 103D RPNPAST.
FOTAOD JednY SRPOB, & I$NT FNG03 AFFO3.

2) AJY By TFSHY

Q) I, adcg)% (é@ﬁoﬁoabq QO ER)

R)  TODTT wﬁoé aﬁcgp@.

-10-
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PART - B
R - D
Answer any TWO questions. 10 marks each. | [2%x10=20]

C3PRYTOECR RTB. TFNER «wZdr. TS TIA 10 HOBN.

Q5) Following is the Balance Sheet of Rahul Ltd., as on 31-03-2018:-
Particulars ‘ Rs.
[ Sources of Funds

6% Preference Share Capital-

30,000 shares of Rs. 50 each 15,00,000
Equity Share Capital-

30,000 shares of Rs. 50 each 15,00,000
Creditors 3,50,000
Bank overdraft 1,50,000

Total 35,00,000

I Application of Funds

Goodwill 1,50,000
Premises 6,00,000
Plant » 2,50,000
Patents 7,50,000
Stock 2,00,000
Debtors 1,25,000
Cash 1,25,000
Profit & Loss a/c 13,00,000

Total 35,00,000

The following scheme of internal reconstruction was carried out:-

a) Preference shares are reduced to an equal number of fully paid shares of
Rs. 30 each.

b) Equity shares are reduced to an equal number of fully paid shares of Rs.
20 each.

The amount available was utilized to write off goodwill and P & L a/c balance.

Give Journal entries and prepare the reconstructed Balance Sheet in vertical

form.

-11-
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Do AONNIT TR0 T 31-03-2018 To3 & IPNT0ST:
QDTN . own.
[ 20N RONh

6% STRED 3B WOoWe$ 30,000 SeTontshd

Sw. 50 2,0W3T03 : 15,00,000

SDENNEIM D woBIY 30,000 Jeontsd
8. 50 o0W303 15,00,000
AN 3,50,000
pieloy NeTES 1,50,000
283 35.00,000

I ONRY 2938

ESNISDING 1,50,000
%%@d et 6,00,000
m@aﬁd 2,50,000
AZT 7,50,000
[T 20,00,000
. 20BN 1,25,000
IR 1,25,000
TR W) IF 003 13,00,000
283 35,00,000

33 BPNT 0308 TRIT® JTIOELD oﬁmzﬁoﬁoaﬁa& STBRSOONI):

R) ST éedar{@é:o& T B ROB0 BREF ToWSAT 2,033 Tw.30
003 BeTNOR APRSO0NI).

() BERSDENEIA éedoﬁeém& e9TIC B xogjéoda TREF TORSAT 2,088 8».20
T 3eonent a9zcoon.

&oert OYT a:"xragws;;l ROV Tomie O3 DB IH 9303033534 BRTWRTOBED

UTOSRENT RN Y.

BREE ToDBNRYY Tonw VIT°T AWEITOT S BRHBMOF asegosmq
QeBO (OOW TRX).
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Q6) Prepare profit and loss statement for the year ended 31-03-2018 of Vidya Sri

Bank Ltd., from the following details-

M-8035

Particulars Debit Rs. Credit Rs.
Interest on Loans 21,00,000
Interest on Savings a/c 9,00,000

Interest on Fixed deposit 12,00,000

Interest on Current a/c 1,50,000

Interest on Cash Credits | 9,90,000
Interest on Overdrafts 3,00,000
Rebate on Bills discounted 60,000

Discount on Bills discounted 1,50,000
Rents 24,000

Transfer fees 6,000
Locker rents 12,000
Staff Salaries 3,75,000

Dearness allowance 90,000

Commission & Brokerage 1,20,000
Diréctors fee 90,000

Contribution to Provident Fund 15,000

DTS, WR0F AOWIT g DB IF OF00T 31-03-2018 T03 30302
QNWON 93063 den, Y de,
Ny ed g | 21,00,000
QUPTOON 003NY e 28 9,00,000

ﬁgpd BeBBNT DT 28 12,00,000

asaei_ﬁo L3NG eI 28 1,50,000

SN NBONLD e Ale) = 9,90,000

13«




21755 | M-8035

SNTFIT eI g 3,00,000
BB BN0IT BoINS

RBeDT TOONT K 60,000

ARCBRNT RINOAT BOBNT DI Zeed 1,50,000
SORNND 24,000

DR zﬁoe% 6,000
CRFTT OBN 12,000
RO ToWPN t 3,75,000

ESHRATC 90,000

BFENRD® ToNw TR ajézs 1,20,000
QTEEIFT Y, 90,000

aﬁé’b% AR To=S ' 15,000

Q7) From the given data calculate Goodwill of Sindhu Ltd., as per-
a)  Super profit method (2 years purchase price)
b) Annuity method
c) Capitalisation of Super profit
Average Capital employed ¥ 32,00,000
Normal Rate of Return 14%
Present value of annuity of Re.1 for 5 years at 14% is 3.432
Net profits for 5 years were:
2013 - Rs. 4,56,000, 2014 - Rs. 4,92,800
2015 - Rs. 5,40,800, 2016 - Rs. 5,56,800, & 2017 - Rs. 5,72,800.
88 FIPNT JTINVOT 0T OB ATITBIY, TOW SBOWD.
Q) ézﬁgﬁ@ oo NYPFOD wCS@ (2 JRENY 936@&3 233)
Q) [JIWFAII L] aﬂc;péoda@
) BRHWO emsasm& WOTBOP IO wdéojaeb
X09%0 RBNAG woEmeY S, 32,00,000 A wmsé Rosod TRmee Be. 14
O, WTWFAS WRODY NS B$S0H ITpFIS Be. 13 Smed BN
Je. 14 003 3.432 2T | BRENY TG OPNH 83 FINT083:
2013-3w. 4,56,000, 2014-3%. 4,92,800
2015-cwe. 5,40,800, 2016—-3%. 5,56,800, 2017-8%.5,72,800

Q8) Explain the characteristics of Corporate Financial Reporting.
FORRF TEEF TEITORY RTOOH MEOOTEONTT), DF[OA.

-14-
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PART - C
N - 2

Answer any FOUR of the following questions. 5 marks each. [4%x5=20]

0IRFTRTCR WY, JINIR wvZdr. TE TJA 5 wosnsh.

)

Q9) State the differences between amalgamation in the nature of merger and

amalgamation in the nature of purchase.
NS TRTJW FOC3REEINR, 0D TRTT FO3REBIRH QT BIANT,

DVOBA.

Q10)Give the reasons for adopting Internal reconstruction scheme in a company.

20T FOTAONY G0B0T DAITIFD BRens HI[RTOT sacﬁsamfcd;)1
Qe&0. '

QI11)Write a note on
a) Money at call & short notice
b) Rebate on Bills discounted.
FSNT &Jaioda'é; £33 203000
Q) TOWRN B PO TRWID To
D) RReBR BNOT oR/NY DeOT IVONTE BRckR.

QIZ)Stéte any five reasons for the valuation of Shares.
RNy TRORTPTIE, 030YeE3TR W TTRTR, SR

Q13)What is Goodwill? State the methods of determining Goodwill.
AT ROTTE? DT dfaeéasm& QEFOR® ascmmfm& DORA.

QI4)State the contents of Corporate Financial Reporting.
FOTRFTEEF TEITOA WID 2.$RROBDR B IODI, VA
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FPE % g

SINo. 12450 J.8.8 COLLEL GE “ ol Total No. of Pages : 8

,L.lxu., B o8 R ELY
V Semester B.Com. Examlnatlon, October/N ovember 2019
(Scheme : R.S.2016-17)(Freshers of Oct/Nov 2018 and onwards)

BUSINESS TAXATION - 111

Time : 3 Hours Max. Marks : 80

Instruction : Answer all parts.
DR GRNNPNS V30X

PART - A
oon — D

Answer any two questions. Each carries 20 marks.
O3RPYTOTTRL DT TFRAER w0Z0A. TS TR 20 ©oINRD.

Q1) Suguna and Susheela wants to commence a business. The estimated profit of
which for the year are ¥ 5,00,000. They have two options for selecting a form

of organisation
a) Company
i)  2,50,000 each as share capital and ¥1,25,000 each as loan at
12% p.a.

i) Salary ¥ 1,00,000. p.a. each

i) Distribution of remaining profit as dividends equally.

b) Partnership firm
)  12% Interest on Capital of ¥4,00,000 each
i) Salary ¥1,00,000. p.a. each
iif) Equal distribution of remaining profits

Assuming that company liable to pay Income Tax @ 31. 2% and Dividend
distribution tax is 20. 55%

Suggest which option is better from Tax planning point of view.
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ROTVED TN AL 2.0 BHTITTR, TYTORILD LIOPATRT. [T
©OTIOLD WOXFT U Twe. 5,00,000 SN, |=[OR DT BERTOO
?\)‘of'g)ﬂeéaive,k 03, BPRZRNT VVFIIWIT.
@)  BOTY
) T3cdeydd 2,50,000 Swe. Hedd wommRY I BB
3. 1,25,000, soae3 3e. 12 308 o JeRTD.
i) B3RRYONR Wodrs dn. 1,00,000 Be3
i) YVPT CITI), BTN LVLOT B[O TOWRH.
V) TPRTOF 7\107@;
) 8 oiraa%da 8. 4,00,000 0OBZY ATWT e Je. 12(58;’12J
8.
i) FSdeOne wodrs dr. 1,00,000 BeST.
i) VT COPB/, BTN TOWYT.
BOTAOIN ToeB8XL3CTOT STONION BT Je. 31.2 I mmos
DBTHo 3018 Be. 20.55 Q0T L.

301 odLeRTo 5%033055 o350 6:3033 emsmmﬁd 02NTT wrﬁ
DOD e,

02) a) What is Goods and Services Tax? State the features of G.S.T?

b) From the following information compﬁte C.G.S.T and S.G.S.T payable.

Goods and Services Rates of GS.T Amount

1)  Chocolates 18% 5,000

i) Sewing Threads 12% 2,000

i) Hard Rubber waste 5% 10,000

. ‘ iv) Fresh Vegetables 0 4,000
. v)  Auditing Services 18% 20,000
) vi) Soap C18% 60,000

‘ vii) Hand loom items 5% 8,000

: viii) Floor tiles 18% 12,000
ix) Fruit Juices 12% 1,200

x)  Services to S.EZ units - 40,000
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Q) AT Rewo 301 Q0TTeN? ATBD Rewo 3010 BN 393,

D) B IINT BRHIANVOT BSRWeFT Fe0r FTBH Fewo 307 DB
Cozs; ROB Aeww SORONY, FOBBOND.

ATR @B Rednisd RNOB Rew030n BT o%.
) odeeSeer 18% 5,000
i) JBRORTT 12% 2,000
i) NER TP Ty, 5% 10,000
iv) o0 3TTONEd : 0 4,000
V) S3modnegIe Ko 18% 20,000
Vi) DWW 18% 60,000
vi)) 3N SR 5% 8,000
vii) J© ZodnRed , 18% 12,000
ix) IS OR 12% 1,200
X) Q3R SHFF IOODT

mssi; QR - Xewd - 40,000

Q3) Shine Co. Ltd. propose to increase it’s production for which it will requires
<50,00,000 additional finance. Company can earn the income before interest
and Tax @ 25% Company can raise the debt @ 12% interest p.a. As a Tax
consultant suggest which of the following alternatives should it opt.

| a) By issue of equity shares : '
| b) 30,00,000 Eq shares; ¥20,00,000 debts
c) <20,00,000 Eq shares; ¥30,00,000 debts

Assuming that company distribute entire amount of profit as dividend. Rate
of Income Tax is 31.2% and Dividend distribution Tax is 20.55%

What will be the decision if Rate of Return on Capital Employed is 35%.

a"af FOTAOIN 35 emaadéoﬁam ézSN&:avu ézma dw. 50,00,000n%
o*o’e@fmﬁ)s @ﬁa’&)da:%d w&é méo éaﬁﬁ dfad@a 50w2’50333 nes 3e. 25
eﬁﬁdoa’d soeué’bodao mwrﬁ 3e. 12 ALz RalelnlJ) "?@asaﬁa BRODW BTN,

301 FOBMRTTON ZO@Q 8 $¥NT Tadmr odne CRYTR, oy TRARZHYLD
ROT ACTORD.
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f)

Services provided by Indian Company to it’s subsidiary in America.
g) Supplied goods to a businessman in Pandichery
h) Goods Received from Maharastra
i)  Goods Supplied from Bangaluru to Mangalore

) Goods Received from unregistered dealer of Hubli

88 TINT WINPT TIVFLIFT SREOTIVONT eTOOIN G TFTT
ROB TDF) Femo 070D, TSR,

R) IIFWITY ITBNRY POV )
®) DFTEBE TTOR ISWNYRY, BRSA

Yt

)

%)  ATBRLR, BYRAOIOT HIFR ST SRRWTHT

B) WIVFAW0T 0HOZNRFTY, DOLHATT)TD

Q) POUBT BRONT TOTIN TORFS AeBTT)

DT )ZRTSe0D FOTAOIN WCOTTIOTOES 33, WOET BOTAN XeF JeRWRYT
) TRORWOODYS ITRCHIN ATRNIR), TR,
éwf)mmmﬁaocﬁ ANTDNT), RACTOAT))

D) ROBVNR LonewedIOT onswdnt m%%cﬁ%

&) SJ%%O&) SROTIONET 239000 :sdsmm& TBADZT

Q7) Ambani company needs 10,000 units of a components every year for next 5
years. Components either to be Manufactured by the co. or bought from the

market. |
Other Particulars are Cost of Materials 312 per unit |
Direct Labour cost 315 per unit i
Variable over head T 14 per unit

The company purchase the Machine for this purpose by borrowing loan from
Bank. The present value of cash out flow for the 5 years on account of loan
will be ¥4,00,000.

What will be your decision if component is available in the market for (a) 52
per unit (b) ¥48 per unit.
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©0LIPR BOTIN VVODT 5 B[RENFITA T8 SR 10,000 w‘@aﬁﬁeé e-maébdaéd
b=t wuawm TOB/IODe emaaafvaﬁeé‘? 930 zvodosaéoaood @Daeémﬁeéo

u 233 mao@m
| N, 3% Se. 1233 Puss,
33 39 By de. 15T uss
: waafvmmw wdraesdzé Sw. 1438 a‘s’awﬁé

ésa emdeeﬁsaﬁ 5oo.®odao mo%@ocﬁ TROTBED ojaoa’wab @3@6@@35
QART J j;daa’ ste; SN md BORI :ﬁ‘aw 5 [IRENRYR dJD 4,00, OOO
& Tesrish mdasaﬁosae’) (2) Tw. 52 wawmsé () Sw. 48 T3y
c&mdoﬁwwoédd zm Rmrdﬁeaﬁa 899

Q8) Write any 10 benefits of G.S.T?
ATB B Ao 30R0D 0350 TIOBTH BB POPNIZ, WB0WO.

PART - C
N — 2

Answer any four questions. Each carries 5 marks.
CIRPTTTR oY TINER wwBor. BE TIR 5 wosriwd.

09) Write a note on ‘Mixed sypply’.
NZTRTB” Wi 8Ted 20B0WD.

Q10)Mr.Bhuvan of Bangaluru supplied Goods for 80,000 to Mr. Chandan of
Chamaraja nagar. Mr. Bhuvan purchase these goods for ¥59,000 (Includes of
CGST @ 9% and SGST @ 9%) from suresh of Mysuru.
calculate :

a) Total price charged by Bhuvan.

b) Net liability of G.S.T. payable. :
BoNERdT PTZ*TRT S, 80,000 NG, WOTTIIINTT zs‘odwf
S3OR BRTRTT. DT TR B8 ARG, dJa 59,000 (3com Xo®
Kewo 30n 23@ 9 W) Tz, FTB Heamo é’e@ﬁ 3e. 9 Xedmo3B) D Faiolely
283 TR00T a)aean)md YRNZ, cﬁ%mé

Q) T TID &@h’w&mcﬁ 2083 ?363
W) TBSTUTT VY AT Fewe 307 BRHBOF

i, 3

p - = -
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Q11)From the following information compute total value of supply for the financial
year 2018-19

a) Intra-state supply <15,00,000
b) Intra-state supply 316,00,000 (Nil rate)
¢) Intra-state supply which are

exempted under G.S.T 320,00,000
d) Value of inward supplies on which Tax is payable

under Reverse charge Mechanism 36,00,000
8 39N BR&HENPOT wid) BRTE SPOTI, BT BHRE 2018-19 §
FOWIHEROND. '
Q) oaasédxa%fﬁw m&e}% Sw. 15,00,000
Q) TOBRIBRENT TRT3 8. 16,00,000 (33 @)

2

R)  CORTRENT TRTF QT

RTB Kewmo 30R0WOT DJ0CNE JWBOW®  Twe. 20,00,000
- B) HmNF TRTF et Dowmdndess
03D0ZE F[ITT WY, dw. 6,00,000

Q12)What are the limitations of Tax planning?
301 C3RERIODN WENTORH)9.

Q13)What are the objectives of corporate Tax planning
FOBRFTEEF 3O O3PeR[ORD RT3 eBRTE?

Q14)Define a ‘Person’ U/S 2(84), G.S.T. Act, 2017.
RO® Aeww 50038 2017 oY 2(84) T BFed W' oI, WRETVIA.
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SINo- 12791 ISQESLEELIIT Toumeoffuae

V Semester B.Com. Examlnatlon, October/N ovember 2019

(Scheme : RS 16-17) (Freshers of Oct./Nov. 2018 and onwards)
BUSINESS LAWS

Time : 3 Hours Max. Marks : 80

Instruction:  Answer all parts
QAR GRNNSNR LVI0A.

PART - A
AL T

Answer any two questiohs. Each question carries 20 marks. [2%20=40]
CIPPTTETR ST TIAR GZOr. BSCIROTBR, 20 VOINW.
Q1) Define Contract. Explain the essential elements of a Valid Contract.

‘agagod’ TRETRIA. NRZBES &godw @_o'faeﬁéﬁ @oéﬁt’ém& DRDX.

02) What is free consent? Explain the flaws in free consent.

T8 AWS F0TBeHT DY BICD DRV, HI0.

03) Explain the remedies that are available to an aggrieved party by breach of
contract.

‘uagozj NOOINVNE OVOT JROTI 5‘37? ATNR wbmdmﬂz&& RWOA.

Q4) What is Patent? Explain the procedures to get Patent registered.

AT AIW DOTTER? TN AT, SRCOTWONILD ROXLIeTT
Berigay, DROR.

PT.O.




21757 ~ M-8037

Answer any Two questions. Each question carries 10 marks. [2x10=20]

CIRYTRTTR 20 JJRYR wwgor. FE JFKR 10 ©osnsh.

Q5) Explain the rule “No consideration No contract’ with exceptions.

“Tépo é)‘gcﬁ LTOTIY” D02 JODVTY, BT WTRNLROOR LBOA.

06) Who is Minor? What are the effects of agreement with Minor?

‘WIRT BODF' Q0TWT 0RW?  WTRTIE0ONT  WBOWAECD FTOTRIZ
BOFORNTOR)?

Q7) Define the term ‘Acceptance’. Mention the essentials of a valid acceptance.

‘&»e%)J ’ wdws&‘i YT N33 ué’gﬁoﬁa @5555 eﬂoéﬁﬁe‘?c‘o‘ao1 PR

08 What is Copy right? Explain the procedures of registration of Copy right.
TOT Ay D0BTED? VBT Beeoned FRT), DB|OR.

PART- C

ALY A Ml

Answer any four questions. Each question carries 5 marks. [4%5=20]
CIRRYTRTTR Doy, TINER LuZoR. BB TZR D WOINK.
09) What is ‘quasi contract’? Give examples.

‘:m?sé 2TOTNLD” DOTTe0? mm&’d%ﬁ@m& BRR.
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010)What is ‘wagering contract’?

LD BRI a@:od DOTTEN?

QI1)Narrate Case law Carlill v/s. Carbolic smoke ball Co.,
e Alesal soBRerdF ARET W FOTICH BRTFDONTY, WHOA.

Q12)Write a note on contingent contract.

ROIB[EOD 2TOTT T} e330e8 29B0.

Q13)Write a note on ‘Trade Marks’

‘méma zs§o wrﬁ\ wwwsé 230N00.

Q14)Write a note on digital signature.

o)

90858’ 0D wﬁ\ 233063 23BoWD.

X




